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2. 1D20&EE X, 2 20mERH Px), Ok, y) ZUTDESR
YégdeE BRBICERGIL.

X=1{0,1,2,3,4,5,6,7,8,9}
P(x) = “x 1 3BETHD”
O, y) = “x+y 3MEHTHS”
2-1 ROBEREXDERZTBEALIL.
(1) Vx{ P(x) > O(x, x) }
H (O, x) = “xtx [ TBEETHD” = “ 2% 1JMBEHTHS” < T)
(2) VxVy{ P(x) > O(x, ) }
% (B Z1F x=1, y=2 DEXBRDOT, £2TOD x,y TIEEITRHR)
(3) VaFy{ P(x) > Ox, ») }
B (ZziEy=xDLE, (1) DERD)
(4) Ixvy{ P(x) > Ox, ») }
H (7222013 x=10EE, F50, y) © T L7250005)
(5) Vyax{ P(x) = O(x, y) }
H (722213 x=10EE, F50x, y) © T L7250005)
22%8 Y={xeX|y=x/3, 0, y) } £&T5.
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(2) 2.+ 1) = (0+1) + (3+1) + (6+1) + (9+1) =22
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BB 10 RIEERL, #EBRE X o572, [ Yes |, [ No 125 %
HZEZT D, 3 NOWERE ORGEZIRD 2 SORME (a) BEOY (b)
TRDHZEITT 5.

PA,ON) = | AN Oi|/]Oi| oo (a)
RA, Oy = | AN Oi |/ |A] oo (b)
A, 0ic NxM
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N=11, 10] ¥ 1LLE 10 L FTos0ES. BIEE 5.
M= { Yes, No }

ZZC, 10 OREDOEMIIIROEEBVET S, |4]=10 ThH5.
A = { (1,Yes), (2,Yes), (3,No), (4,Yes), (5,No), (6,No), (7,Yes),
(8,No), (9,Yes), (10,No) }
PERFE 1 DRBITRD LBV ET 2.

O1 = { (1,Yes), (2,No), (3,Yes), (4,No), (7.Yes), (8,No) }
ZIT, HBRE 1T, 6 0DRNCE X T|01 = 6 THD. 5 AE, 6[fE, 9
BIEH, 10 BEIXI 303570 ). ZRICEZ RS0,
(1) AN 01={(, Yes), (7, Yes), (8 No) }

(2 | AN 01 |=3
(8) P(4,01)=3/6=1/2
(4) R4, 01)=3/10

(5) BBRA 213, FHEEHIZ Yes L&A, BEFE HIZ No &R T2LT5.
bR 24 R M X
02 ={ (1, Yes), (2, No), (3, Yes), (4, No), (5, Yes), (6, No),
(7, Yes), (8, No), (9, Yes), (10, No) }
P4, 0)=6/10=3/5
R(A, 02)=6/10=3/5

(6) #eBRHE3IL, IMBNHTRI B ET, £MICT Yes 1 &1 No |l 5 4%
AT=&F 5. WERE 3R L.
O3 = { (1, Yes), (1, No), (2, Yes), (2, No), (3, Yes), (3, No), (4, Yes),
(4, No), (5, Yes), (5, No), (6, Yes), (6, No), (7, Yes), (7, No) }
P4, 03) =7/ 14
R(4, 03) =7/ 10

4. ROINYEREHTERAEILN.

EREA X={a, b c d e f g hij k
l> m, n, o }, #Z_:JILE;JJ%_AF%'{??\\ R gXZ , U={h,

d e f g i eTa.
N e
h i J U®DERf={xeX | VyeU(y <z x)}
M U Dix Kot={xeU|VyeU(y <r x)}
k 1 m U ORI
W ={xeU | VyeX(x <Ry A x2y - yeU)}
n 0
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(D) UD ES= {abcefg} (2 UDT 5= {L, n, o}

(3) Ui Kit={ } (4) UDk/hot={ }
(5) UDRBKIT= {h, i, ]} 6) U Dt/ NBl= {h, i, ]}
(7) UDER={}

8 UDTFR=1{1}

(9) V={i,j, I, m,n ot EL, S=R " 12 &35, SORRITHI Ms Z~H.
(B2 (n, DeS 7203, (I, n)eS TIE7eu.

i i / m n 0
e N
i 1 0 0 0 0 0
Jjl 0 1 0 0 0 0
Ms — 1 1 1 0 0 0
m 1 1 0 1 0 0
n 1 1 1 1 1 0
o 1 1 1 0 0 I




